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HISTORY
( Major )

Paper : 5-1
( India under the East India Company )
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer in one word or in one sentence : 1x7=7
@Bt *1% 31 b1 IS Te] i

{a) Who was the successor of Alivardi Khan,
the Nawab of Bengal?

iRe 2
(b) Which Nawab of Bengal shifted the
capital from Murshidabad to Moonghyr?

IR @1 50T A TR oy o
TARG (A SIfRE 2
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(2) ( 3)

(c) During  which Governor-General’s (b) Write any two characters of the
administration were the Zaminders Ryotwari Settlement.
reln:::ved from th-elr pohct:: flutleg and in AMERR T B @Al ,i-m SR A @
their place police administration was —
placed in the hands of British officials? !
@G SRA-(FHAEA] IS ST (c) Mention any two results of the 4th
(SSTEICE RG] “ffebd GRA *[1 SA7fS fr Anglo-Mysore War.
O 3% “ffefs 2P Joreared Fee e Bpel TRo1-HEE I R GG 01 T o |
b ay (d) Write two significances of the Treaty of
(d) Who was the ruler of Punjub during the Salbai, 1782.
period of the 2nd Anglo-Sikh War?
Rl 6-fY Tad TS AR PR YAy 599 BodiR B o1 caf¥ies fer |
wifeE 2 3. Write short notes on any three of the
(e) Why did the Khonds Revolt against the following : 5x3=15
British in 18467 oo i e FoRibR e7[® oY (Gre fes
Sr8y 50 (Heee JouT RFem e fcm (a) Political condition of Bengal on the eve
Ffife 2 of the Battle of Plassey
(/ Name the tribes of Chota Nagpur who o[BI T AFFET  NIRES  THON
revolted against the British in 1831. e
S0y 5o el Reca R 391 @osIER
GaeifeceE T f& e 2 (b) The Treaty of Allahabad, 1765
(g) Who was Mangal Pandey? Sabe BT SRR B
THA ACS @ i 2 (c) The Treaty of Bassein, 1802
2. Answer briefly : 2x4=8 sro3 5 @R 3
e Tag fir (d) Maharaja Ranjit Singh
(a) Mention the year and the parties TR e i
between whom the 3rd Battle of (e) Doctrine of Lapse
Panipath was fought.
ARl T T& T I TGS S P 57O Tt e
Cafee 2
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4. Answer any three of the following : 10%x3=30
o] R e fofbl 2m T fordr
(a) What was the impact of Dual System of
administration in Bengal?
THOTS (7 X TIEH dor 6 wifRet 2

(b) What was the Subsidiary Alliance? How
far did the expansion of British Empire
in India become possible through this

system?
Al A o owifkE? @2 AT @elft
SReTs 3w e Rem e 789 t2fze 2

(c) What were the causes of the downfall of
the Marathas?

TRPPR fo7d PRPHE & =i 2

(d) How did the Revenue Policy of the
British led to the rural indebtedness in
India?

SR Ao fd sEeRe A
HoEer jfE iR ?

(e) What do you understand by
commercialization of agriculture under
the British? What was its impact on
Indian society and economy?
<o e $RY AT T & 382
“(fafeeT 2

() Discuss the nature and result of the
Mutiny of 1857.
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